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Linguistics
Model Question [ 2077 (2020)]

ljBfyL{x?n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.
Time: 1.30 hrs. Full Marks: 40

s'g} b'O{ k|Zgsf] pQ/ lbg' xf];\ . k|Zg g+= # clgjfo{ 5 . @x@)=$)
Attempt any two questions. Question No. 3 is compulsory.

!= efiff lj1fgdf u|Ls / /f]dg k/Dk/fsf] s:tf] of]ubfg 5 < 5nkmn ug'{ xf];\ .
What is the contribution of Greek and Roman tradition in linguistics ? Discuss.

@= s'g} b'O{ k|Zgsf] 5f]6f] pQ/ lbg' xf];\ . (Write short answers on any two)

s= eflifs k/LIf0f eg]sf] s] xf] < What is language testing ?

v= efiff / ;fIf/tfsf] ;DaGw s:tf] 5 <
What is the relationship between language and literacy ?

u= sDKo'6/ efiff lj1fg eg]sf] s] xf] <
What is computational linguistics ?

#= s'g} rf/sf] ;+lIfKt l6Kk0fL n]Vg' xf];\ . (Write short notes on any four)

s= jx'eflifs lzIff (Multilingual education)  v=q'6L ljZn]if0f  (Error analysis)

u= sf]ifLo k|j[i6L  (Dictionary entries) 3= ;+/rgfjfb  (Structuralism)

ª= kfl0fgL (Panini) r= ;fIf/tf  (Literacy)
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